Algebra WON: Practical Algebra | skills Hameworkl
Prof, Scott Beaver

1. a) 1+2+3+4+5+6+7= 28
D G 10 15 9l

b) (1+2+3)+(4+5+6+7)= L%
o Lt D

6+
) (1+2+3+4+5+(6+7)= 23
3 L b 15 19 ‘:l

d) (1+2)+3+(4+5+6+7)=@
43 T 159" 22

e) 7+6+5+4+3+2+1=@

1S (% 22 25 A%

f) (7+6+5+4)+3+2+1=@

(5 % 2% $25 AT

g) /+1/+;/+/+/3/+/5/+ﬁ/=@

h) Did you get the same answer for #1a-g? Y-S

i) What mathematical property says you can add

mimbare i arderd Cemmo bdiVE and ( a&SoGwlﬂ‘V()
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2.

a) 2 x3= [

b) 2 x 3= 0

d) -2><-3=6

e) What is the sign of the result when you multiply:
positive x positive= ~
negative x negative = <~
negative x positive = _

positive x negative = o

Solve. Label as “identity” or “negation.”

a) 951,212 x 1 = ‘WS\\Q_\”L ic)\m\"ll%z
b) 951,212 x -1 = =95] 2|2 e dkion
c) -951,212 x 1 ="AS\ LT __ideakiby
d) 951,212 x -1 = 5| L\'L msﬁx\f\
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4. a) 9 + 3= "4

Homework #1

b) 9 =+ 3 = _3
C) 9 =~ 3 = " 3
d -9 + 3= ?)

e) Are the sign rules for division the same or
different than multiplication (see #2e)? Same

5. Solve. Label as “identity” or “negation.”
a) 1,234,567 + 1= \, 23,56+ __tdew lﬁl%z
b) 1,234,567 + -1 =—123S€T Mjoérfm_
Q) 1,234,567 + 1 ==| 23567 Io\evxjr\}'%(
d) -1,234567 + -1 = 123567 neq oo
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= 1- + L9S'VEC'T (P

1 + 295ve'T- 0

= 1- + £95'vEC'T (4
=1 + £95'pEC'T (€
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'ng a) -1+-2+'3+'4+"5+“6+-7=i-'z%!

-2 ={p =0 =I5 ~2f
b) -1-2—3-4-5-6-7=E§18
-3 ~lp ~|6-I5 -2]

c) CDQ?@_?« GIX?C}§>+C_1_ZG>+C?_X:72: @

d) -1 4 (-1x2) + (-1x3) + (-1x4) + (-1x5) + (-1x6) + (-IX7)=@

2 > Y -5 6 -7

e) -1+ (2%-1)+ (3+-1)+ (45-1)+ (5+-1) + (6+-1) + (7+-1)=@
L 5 -y -5 - -3

I
-

2, @ K23 2 x 2
2 b) -2x-2x-2=-8

l{c) -2 xq-z x -2 X =2 = ’Q)
- VvV
-8
5d) 2 x 2 x 2 x 2, x 2 =B
- Yie
8) What is the sign for multiplying an odd number of negative numbers?

V\e@«%w.
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